Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.5.dwg

STEVES

203 Humble Ave.
San Antonio, TX 78225

STEVES AND SONS

OPAQUE FIBERGLASS DOOR

SINGLE w/ TRANSOM
w/ or w/out SIDELITE(S)

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

2 PANEL

1. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Huricane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

3. When used in areas requiring wind borne debris protection this product is required to be protected
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

4. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further engineering analysis by
a licensed engineer or registered architect.

110
i —

2 PANEL OXFORD 2 PANEL ARCH TOP
w/ SPEAKEASY

w/ SPE

PLANK CAVALIER

AKEASY

6 PANEL

REGENCY PANEL COLLECTION

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 8 Horizontal & Vertical Cross Sections (1X Buck)
2 Door Panel Details 9 Horizontal & Vertical Cross Sections (Direct to Masonry)
3 Sidelite & Transom Panel Details 10 Vertical Cross Sections
4 Door Panel Options 11 Buck Anchoring
5 Elevations 12 Frame Anchoring & Hardware Details
[ Horizontal Cross Sections 13 Bill of Materials & Components
7 Horizontal & Vertical Cross Sections {2X Buck)

13.75" MAX. O.A.
TRANSOM
HEIGHT

ﬁ

68.5" MAX.
OVERALL FRAME
WIDTH

—-

oo

8 PANEL

/O ;
X
[ ]
W / /] >
o O
<E =z ' §
QL < c% <o I I
>3 E 5 >§< = ||o ollo
SE 0F b3 o 2 [ 1
2% 8y , ,
x < ) )
r / y e !
A A
CONTINUOUS HEAD & SILL
‘DESIGN PRESSURE(PSF)

| pim

% 37.5" x 95.25" +45.0 | -45.0
290 22 20 less'x9525"| +45.0 | -45.0 | +45.0 | -45.0

June 7, 2022

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS,
Phone No.:

W

Lyndon F. Schmidt
P.E. No. 43409

R

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN

PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 3/10/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY:

LFS

DRAWING NO.:
FL—41467.5

SHEET _1 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.5.dwg

0.5" —»1 —— EXTERIOR
S "'& e b
b . K . .4 .
. BA:’ . ‘.,Q .s
\ INTERIOR
COMPOSITE HINGE STILE .
CAP (LVL)

35.75" MAX. DOOR

WIDTH

m HORIZONTAL CROSS SECTION

\2/

10" X 12" IRON
SPEAKEASY FRAME w/
5-3/16"X 7-3/8"D.LO.

79 MAX. DOOR HEIGHT

P

40.5"

s

SEE HARDWARE TABLE
{LATCH & DEADBOLT)

SEE HARDWARE TABLE
(MULTIPOINT LOCK)

N

@ FIBERGLASS DOOR PANEL

FIBERGLASS SKIN: 0.08" MIN. THK.
FOAM CORE: POLYURETHANE - 1.9 PCF MIN.)

§

A\

IRON SPEAKEASY FRAME

<9

- 1.2" =~ 24"
— [=—oF
télb- ; ’ .f
. 4. \
COMPOSITE
LOCK BLOCK LATCH STILE CAP
19.5" LONG {LvL)
(LVL)
1/4" SEX BOLT
(8 TOTAL)
NGP 25258

SELF ADHESIVE WEATHERSTRIP

GLAIZING SILICONE

L—*L 3/4" GLASS BITE

G1 GLAZING DETAIL
SPEAKEASY (OPTIONAL)

L'-—— 17.875"

LATCH:

SIGNATURE SERIES

KWIKSET | DEADBOLT:  SIGNATURE SERIES (980)
LATCH: 51
SCHIAGE | peapsoLr:  BéON
LATCH:  PREMIUM HANDLESET
ROCKWELL | pEaDBOLT:  PREMIUM DEADBOLT
PREMIUM MULTIPOINT HANDLESET
ROCKWELL w/ DEADLOCKING TONGUE
MULTIPOINT LOCK

/3/ 16" TEMPERED GLASS

I———bwl.l"

077"

—

1
\

o)
SASH HINGE L7

16 GA. IRON SPEAKEASY FRAME

175" —|

COMPOSITE
CAP

] 04"

1.2

TOP RAL —
(LVL)

FIBERGLASS SKIN v - % -

INTERIOR EXTERIOR

FOAM CORE— 1

1.2

BOTTOM RAIL
REINFORCEMENT
(LvL)

0.75"

BOTTOM RAIL—"
(COMP) L

/" 2"\ VERTICAL CROSS SECTION

2/

PERRENNEIN
ol J

L
\\\\“ X ,"/
S T,
Sk . /0,
SN ~ Qe 0
\\Ou' b - o
:so: 2 ‘." e : g
51:3’ 3 o';.é:g"’
zoill < ES== oy
B &gy L2n
- e = o ~ oMW
AN N 2828
” . o \\ < ":lﬂ
7 . Q\\ H50s
, S 534z
// \\\ % -
(7, W 5R2D
iy IS‘ ON - @
0O O
. ©xZe
° 4 & 14
§ Eoa F0o
a £0 o N c hi
~lE Sy 5024
gl TE moanie
[ Y LL:
s
QIs5 v,
g9 cu
Sle 2
0
z9 a
38| E
sg |3 84
3|3 g
O i -
E% 0 =
L, 6d |2
ke o
§ o)
o 2
o o
>.
m
")
=z
o
N
|
4
L
<
a
o
p-a
DATE: 3,/10/22
ScAe:  N.T.S,
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—41467.5
SHEET 2 oF 13

© 2022 R.W. BUILDING CONSULTANTS ING.



Z:A\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020\FL-41467.5.dwg

t1} >< ’j—-:-
W (©2(63) 68.5" MAX. PANEL WIDTH 30
05— =~ oe 1312 35 MAX. D.LO H o
MAX. D.L.O. o NO
ERIOR =35
? EXTERIO Wit WIDTH = 3
E{) A
: i m /// ///// O
| JFo ||, O /
INTERIOR COMPOSITE % / /
CAP o
COMPOSTE ~ SMLE §TILE REINFORCEMENT \ | =
CAP ) (LVL) ‘ - 20 0\ JRANSOM PANEL
4 =
/" 1\ HORIZONTAL CROSS SECTION t) g
3 1| - &
3/ [
|
O @
TOP RALL ~
13.875" MAX. REINFORCEMENT = ! INTERIOR
PANEL WIDTH LVL }
{LvL) .
l E\! ]/2{:
7'MAX.D.LO. - GLASS BITE S
WIDTH { 1" OVERALL GLASS THK.
< FIBERGLASS INTERIOR
SKIN 1/8" TEMPERED GLASS OR EXTERIOR
] 5/32" TEMPERED GLASS S
ge (FROSTED, RAIN, BROOK)
4 i
' GLAZING <2 %
4 COMPOUN§:: 1 n. | AR SPACE
AN {3\ HORIZONTAL CROSS SECTION
. ? /8" TEMPERED GLASS OR -,
A\Y '
™ ooV wmor oo T
y ALUMINUM SPACER - RAIN, )
= 3 /| IV
€9 @@GMM@MMM
T A
g
230 o o INTERIOR
- GLASS BITE
S 3= INTERIOR —— 1"O.A. THICK GLASS
=°\ ~O v A
~ 4 v v
AR 1/8" TEMPERED GLASS
RE . L " -y
FOAM CORE - || --.:- :' " DECORATVE NSERT 7116 - 5/8" OVERALL GLASS THK.
3, GLAIING —2 4 GLASS BITE
, W COMPOUND AIR SPACE 1]
/ N S5 TEMPERED GLASS CgI\L//\:’ZIONUGN X DECORATIVE INSERT
% AIR SPACE
, : EXTERIOR “\\\\\_
BOTIOM RAIL 1T SWIGGLE SPACER 5/32" TEMPERED GLASS
- () ~—JE | & b
E: ; EXTEROR  PVC MOULDING SECURED w/ 16 GA. X 1" BRAD
COMPOSITE —I° =SS NALLS LOCATED 17 FROM ENDS & 3" O.C. MAX.
CAP

@ FIBERGLASS SIDELITE PANEL

'FIBERGLASS SKIN: 0.08" MIN. THK.
FOAM CORE: POLYURETHANE - 1.9 PCF MIN.)

/" 2"\ VERTICAL CROSS SECTION

NEY

. GLAZING DETAIL
TRANSOM

5/32" TEMPERED GLASS

June 7, 2022

10
o
)
)
[SBL]
z
_..__J'\
m.“-mn
- ¥
E 00
Z 050
‘(L.m
= .
" 1 0w o
D2z
D RSN
}. O")w-p
E onN ;@
. O X289
332 Z 0 ¢
t Eg =My
26 89 .cuw
e an 5025
LT Doow
2,
€ 0
© C
£ 6% §
3 0T .
g tu
& 2o
3
n (217
20 -k |
o0 <35
el PEE
B 15 «°
ng 12 o
i =1 Ll
O il =2
G |8 oF
LD I g
| L n:a
o
2 o
S b
o o
>—
o
%]
z
O
2]
o
0
z
0
wl 15
hand I I3
< |5
o 3
0]
T y4
ol |o
=z ]
4]
paTE: 3/10/22 |z
[a]
scale: N.T.S. 2
3
pwe. 8y: RW o
CHK. B:  LFS 2
DRAWING NO.: z
FL—41467.5 N
o
SHEET 3 oF 13 ©




TON SANVYLINSNGOD aNigriing

M 2202 O

€186 'ON Ansibsy 3494

L616°6S9°CL8 ON 8uoyd SNOISIAZS F
g6SES 14 ‘09UIDA ‘0£T %08 ‘O'd \Su SNOUdO J1Nvd 8000 AN = I N H_
_o_d__ ...mkz,qh_:wzoo oNIaTINg @ KTBNISSY 90 1avd WW R R
\\ 117 NG g
\ 7 I S I 2 s
SO e | B YRR S lelelp o)
///«.v...aoﬁoﬁ... %, WPIUUSS 4 uopuk] a m slelE 2| B
S o WAk pendeid sjueiinoog :10NQ0¥d AEIERE: m =
§ 220z 'L dung
¥ PNz
L. A 60¥EY "ON s -
- ®, -. oy
\\ .I. '.. ,,,
%, LGl &
\\\\s Nijds w,///
Dy
(18]
| -
o
]
Ly
L lDl
= N
~ —
>
- <
®
KL
oz

[ | OO

fl/\x
8 PANEL

| 1

==
/e ]
 m—
%ﬂ

e
=
=
=
6 PANEL

SPEAKEASY
REGENCY PANEL COLLECTION

PLANK CAVALIER

SPEAKEASY

2 PANEL OXFORD 2 PANEL ARCH TOP

2 PANEL

BMPs'29%L-14\0202) L97Ly-14\sBuIMeIq - D\S3IYIS ADNIDIY L9vLy-Td\s|erciddy 1onpoid epuold - Y\JudURULIBd - SUOS pue SaAIS\SIUBID\Z



CON] SANVYLAINSENID SINIGTING MY 2202 @
€186 'ON Aisibey 3dd4 SNOISIAGY
L616°659°CL8 "ON euoyd J 31vd_TON
G6GCE T4 ‘OdUIDA ‘OSZ Xog ‘O°d \Su SNOLYAIT3 NFE e H H_
“ONI ‘SINVLINSNOD 9NIgiing @u ATENASSY 80 Luvd W T R . % &
S 4004 SSY19¥3gld SU sl <2 Tl
PIagae Ty bpa SNOS # S3AILS iE w B2 ol
p 4
* W% ihg poindeiy sjuewinoog :10na0¥d HEIHEE &
20T ‘L sung
*U\\m
o TS 5 Ra
L
| Ot Commmnls S5
D
e ] V@
< o i
(9
<l =0
) > NP
N .lw M
<M~ “q = nv*.l!ll.l o) |
.
>
@) = o “~
//,// nt
Ww
=
Sl
nvm g
=)
w
o
y (=l
I ————— e e
. _ ~ o0
<ri -0 CDL
sNHS VY \ Zl O
4 all/ oLz
o
O > <> =
i -
_ ] A0 L
B SP @9 ©
ﬁij b ,
Q : N & o~
418D - ] e
L D
FOVWI Q340dIW
=z
o
==
o
m

BMP'S 1971 1-14\M0202) L9t Ly-T4\sBUMeIq - D\STIYIS ADNIDIY L9pLt-T4\sjeroiddy 1DnNPold BPLO}S - Y\IUBUBWLIA - SUOS pue S3ABIS\SIUBID\'Z



\\\ - * ¢/ /,/
\\ &.o' . 0 /’ g
& 9z
sxid P
=0 R ng N,
- Q’.'. (@) e
- o% CNSE don
AL SRS EEg°
SEE NOTE 1 27" SEELE
7, N op L2
SEE NOTE | Iy, W Z2dop
G (®
o O Xz o
4 INTERIOR ‘ BEp Z8,°
2 £0 9 .cuw
INTERIOR G4 G4 |88 s085
: N 4 Dodw
o 5] I
’ ARLLALE LS ELS RN { \ l;“ g g 2 §
- N R T N i E 8”
X | /= 2 / Y
Cé EXTERIOR SEET";STE 2 g
(50) SEE NOTE 2 EXTERIOR (50) e ox | B2
oQ S0
(TYP.) (40) (40) (3412 oo |5 25
23 |2 2.
7T\ HORIZONTAL CROSS SECTION "2\ HORIZONTAL CROSS SECTION /3™ HORIZONTAL CROSS SECTION ds |2l 51
\U Outswing shown (Inswing similar) w Outswing shown (Inswing similar) w Outswing shown {Inswing similar) N B 8 |4 NE
L
Z |z
2
e
O
7]
ol
[+
<
(]
X/ EXTERIOR W INTERIOR 3
EXTERIOR L\ INTERIOR P
DATE: 3/10/22
/"5 \ VERTICAL CROSS SECTION sAE  NTS.
/4 )\ VERTICAL CROSS SECTION {8/ Outswing shown (nswing smir] NOTES: o
\y Outswing shown (Inswing similar) R . .,
1. Sidelite assembly screws located @ 3" & 19" from CHK. BY: LFS
each end of mullion (4 totai). DRAWING NO.:
2. Moulding secured w/ 16 GA. X 1" brad FL—-41467.5
nails located 1" from ends & " o.c. max.
SHEET _6 oF 13

Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.5.dwg

© 2022 R.W. BUiLDING CONSULTANTS iNC.



1331101,
+ i

Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.5.dwg

1-1/4'MIN, RO ,
EMB. (TYP.) \\\s‘& 4/,0/,, N
0 . ”
(®) S¢r N
. ~ . 2] X - )
4 v > X: S g, -
SO ZOl Sk RESSop,
; 0.15" C-SINK =293 ¢ RiOSY 555
. (TYP) ;’\y %, .'.- QS E g % [}
a4 et 2, > P8 58
o : - /,// hi L PPN \\\ a > mZ
y//@ /’/l K \\\\\ gg;«?
s, £ LA B ON B
' ] 0 x2 9
4 \\\(\\\\\\\\\\\\ 0 —___.___lNTERIOR g ‘é Z 0% &
: s to HFTo
4 S a £o 5 .cuw
N “ @ o~ 4 8 ;t) 3509 .g %
v N L A N
< ] 2w
' 45 o N R §
: , N
e 513 cu
4 o POy / =18 2 @
s 0 —~
. pal N : \ Q
1 2S
R 4 ‘Q:Jm
' ’ 0k £
N d §§ 22
)

, 7 EXTERIOR 8y |5 92
1-1/4" MIN. 0= |2 22
EMB. {TYP.) @ E'g i %§

= T 1 N
/ 1"\ HORIZONTAL CROSS SECTION /2" HORIZONTAL CROSS SECTION 72 |3 2
7 / Shownw/ 2XBuck 7 /Shownw/2XBuck > o =2
Outswing shown {inswing similar) Outswing shown {Inswing similar) § El S
<C
[\ o.
>.
23]
172}
=z
= O
o %]
in E 5.
SEENOTE 1 EXTERIOR INTERIOR - g
INTERIOR =]
/4 \ VERTICAL CROSS SECTION
Shown w/ 2X Buck
QOutswing shown {inswing similar)
!
N °
o
: z
DATE: 3/10/22
EXTERIOR ~ — / m T/ z
m SEE NOTE 2 Sy .T.S.
NOTES: (TYP) () N M DG, 8. RW
1. Sidelite assembly screws located 4" from each EM/B P : cHK. BY: LFS
end plus 4 more equally spaced along jaomb (6 fotal). m HORIZONTAL CROSS SECTION - (TYR) DRAWING NO.:
2. Moulding secured w/ 16 GA. X 1" brad nails 7/ Shown w/ 2X Buck FL—41467.5
located 1" from ends & 6" 0.c. max. Outswing shown {Inswing similar) e 7 or 13

© 2022 R.W. BUILDING CONSULTANTS IND.



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.5.dwg

SRRV

o

INTERIOR

i

A

1-1/4" Mle 0

EMB. (TYP.

)

EXTERIOR

/"1 "\ HORIZONTAL CROSS SECTION

8 / Shownw/ 1X Buck

Outswing shown (Inswing similar)

NOTES:
1. Sidelite assembly screws located 4" from each

end plus 4 more equally spaced along jamb (6 fotal).
2. Moulding secured w/ 16 GA. X 1" brad nails

located 1" from ends & 6" 0.c. max.

(40)

Q

1-1/4" MIN.

EMB. {TYP.)
/"2 "\ HORIZONTAL CROSS SECTION

INTERIOR

EXTERIOR

Shown w/ 1X Buck
QOutswing shown {Inswing similar)

SEENOTE 1

\\

(50) s NOéQ

(TYP.)

T

1-1/4" MIN.
EMB. (TYP.)

7”3\ HORIZONTAL CROSS SECTION

8 /Shownw/ 1X Buck

Outswing shown (Inswing similar)

W

EXTERIOR

INTERIOR

/ 4"\ VERTICAL CROSS SECTION

8 / Shownw/ 1XBuck
Outswing shown {Inswing similar)

June 7, 2022

SHEET 8 oF 13

0
o
0
)
o™
P
.-.__I'\
Lom
* -
B
» o O
SRR
I o 4 Dwo
\\ 3>r’52
D% N 0
) Zon
W 528
& ON . 2
- x 9D
v D 002&3
egm .Z.mo
8o 8 .cuw
£33 5024
L T¢ Bmodw
2L,
£ 0
[
E 62 §
3 UV .
g tu
o Ja
<
S
Sm
nx
2t B
58| IS
29 |5 8
o =
03 13 ==
= L g Sn
175315 < N
., @ 0
5l g 81
5 o IR
= =
2 g ©
& Py
>_
)
v
z
=
2]
o
4
g
z
0
wl 15
— <
<i |5
[} 5
w
T Z
ol |o
=z 8]
ju]
oatE: 3/10/22 |z
scAE:  N.T.S. |2
3
DWG. BY: RW o
cHK. B:  LFS 2
DRAWING NO.: z
FL—41467.5 N
]
©




AW )
\\\\ //,,
S Ay,
\\ « o" b 6 /’ n
\\ Q o % ” [+]
SEH &Pz 8
| Foit e
ve - 0:‘5, (2= L o m
=03 205l 5o
- e Q ~y .
% 3 S ELg]
’, .. ¥ > -t ‘>3 © o
’, oy a_omz
,’I/, \\\\ Z S
i, SR .8
o i) o x2 9
BE, Z8,%
g €3 B8 2w
INTERIOR ¢ 6? Zg6a
gl "% Bcal
e v«
d\ R
N
3 0V .
< A5 &
N
zZg A
zE &S
EXTERIOR S <
o of | 2=
- 89 2o
(40) \ 85| E°
- oy Jo Wl
" Buy |5 >0
) 1-1/4" MIN. n3 |0 g
1-1/4" MIN. EMB. (TYP.) > we 13§
EMB. {TYP.) | & : |3 =S
/"1 HORIZONTAL CROSS SECTION (2" HORIZONTAL CROSS SECTION = O || B2
9/ Shown Direct fo Masonry 9 / Shown Direct to Masonry 3 o Ni=
Outswing shown (Inswing similar) Outswing shown (Inswing similar) § £ %g
& g
¢ %
oo
EXTERIOR INTERIOR
2]
SEENOTE1 Z
%]
INTERIOR /4 "\ VERTICAL CROSS SECTION =
9 / Shown Direct o Masonry &
Outswing shown {Inswing similar)
e
S T
SR v a
EXTERIOR - .
SEE NOTE 2 L e
(TYP.) N oaTE: 3/10/22
1-1/4" MIN. scAE:  N.T.S.
NOTES: EMB. (TYP.) o owe. B:  RW
1. Sidelite assembly screws located 4" from each chk. 8 LFS
end plus 4 more equally spaced along jamb (6 fotal). m HORIZONTAL CROSS SECTION SRANING o
2. Moulding secured w/ 16 GA. X 1" brad nails 9 / Shown Direct fo Masonry _
located 1" from ends & 4" 0.c. max. v Outswing shown (Inswing similar) FL-41467.5
SHEET _9 oF 13

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.5.dwg

© 2022 R.W. BUILDING CONSULTANTS ING.



‘ON| SLNVYLITNSNGO aNigimg "m's 2202 @

C186 ‘ON Ansibey ddad SNOLLDIS SNOISIATY

LBLE°6S9'CLE "ON Suoyd @ 31va_TON 0
sssss 15 “eonen ‘osc o8 0'a [ SSOH0” TYLLYIA Nalzlol 29
ont _..mkzﬁ._:mzoo oNIaTing \Wm XTEN3SSY 90 19vd SE|E[L]. ¢ s
W 17 o]
SOINOG, e BRTEE ool 2
I//W/o.v.....coﬁou.‘.. s, ~puudss nd dopu/n . AR
o : :10NA0Yd S|1818|5|8 &

MRS NN NN
¥

INTERIOR

7

/"4 "\ VERTICAL CROSS SECTION

W Outswing Threshold

EXTERIOR

®

('dAL) "gW3
"NIW /1L

INTERIOR

/ 2>\ VERTICAL CROSS SECTION

W Outswing Threshold

$

EXTERIOR

("dAL) “gw3
NIW F/1-1

EXTERIOR

/"3 VERTICAL CROSS SECTION

W Inswing Threshold

E
7

INTERIOR

P )SEENOTE1

('dAL) "gW3
NIW ¥/ 1-1

EXTERIOR

A

/"1 "\ VERTICAL CROSS SECTION

W Inswing Threshold

INTERIOR

®

(dAL) "awW3
"NIW #/1-1

1. Anchor @ sill is not required for single door (X) only.

NOTE:

BMP'S 297 L-14\0202) L9vLp-Ta\sBuUIMeIE - D\SIIYIS ADNIDIY L9¥Li-T4\sjeroiddy 1Dnpoid BPLOY - Y\IUBUBULID - SUOS Pue SBASIS\SIUBID\Z



“ON SLNVLTIMSNOD anNnaiing

‘M 2202 9

€186 ON Ansibey 3dad SNOISIAFY
L6L6°6S9°CL8 FON suoyd i
GBGET TI4 'OSUIDA ‘O€Z Xod ‘O'd \§ ONIYOHONY Xond A8 3lvd_Jon S e 4 m H_
“ONI ‘SLNVLINSNOD ONIaling go ATENISSY 90 1avd N 5|5
W NG Sl 25
e VNO/o %/, 60vEY ‘ON “I'd d000 SSY1oMIAlA Mp & &g |
/@....&..DEO.N.&....MQ \\\ PILIYDS 4 uopul SNOS % S3AALS gl m sl elE e 5
.w .- % D“&m peupdedy sjuswINSOQg -12Naodd 318 W 5 W %
37 1Rz zT0T ‘L [ung
ixi ¥ o i¥E
t . eoeyoN ;I Z
% e Senmon A & 2
\\ &oo-ouo zmo~|uu.-o) /// <C
i S :
\5: IOmsczz @
o T e
yé o (dAL) XYW
) (dAl) 20.91
| T{ 7
| N 1 f 1
<& L _
2
: s
S
Sz @)
0 <
|AJ » ‘-.o
Sl |
= o
E _ | | 7
% e S
T
Mm,m A
=
QO
v
=z
<
pe
-
ol (dAl)
£ (dAL) "X¥W
Amhw .U.O :0_.
04 o
| S R 1 1 1 1 m
2 ac
: o
O — . x O
< 2 © -
£ 2= s o <
% o5 & ’ < ¢
o= S @)
= >
T RN )
‘..,..” x
1 ] I 7. &N
M. .s.vm. M. ...‘.
- =
@]
)
=z
<
[+4
froeed
G
o (dAL)
Z {dAL) XYW
(dAL) "0'0.91
« 4 |!* ﬂlr
» ] L/___ ! ! 1 1 1
“E N g 2
ey < — N
:.4‘ o™~ qv...
o 15 -
o e o
iy n :. ] ] ] ] ! .......l/,ww
-...qa. T <...... . 3 ¢v...... 3k -] ..“.....- >
s O e F
B Qg i} g
2E 3
N

BMP'S' 97 LE-14\0202) L9vLy-T4\sBumeId - D\STIYIS ADNIDTY L9 Lp-Td\sjeroiddy 12npold BPHOYY - V\IUSUBWIS - SUOS pue SBARIS\SIUBIIDNZ



(RARNE NI
SN i

FRAME CORNERS ATTACHED W/ (3) 7/16' CROWN X GDOOR G MULLION % 3.5'X 420 GA, STEEL PLATE ATTACHED W gy,
1-1/2' LONG 16 GA. STAPLES & (2) #7 X 2’ DRYWALL , g . —— 4 (TYP) TO BACK OF LOCK JAMB w/ (4) 1" g 4//@’1,
SCREWS @ HEAD & SILL (TYP.) —1 =) (mvp) 4= =—4MP) CROWN X 5/8" LONG 16 GA. STAPLES SQ¥ e 3
1 A T[T & _ _ _ S8y 2 4Oz 8
4 " t — 4 g [-¥ -J o™
o — & | * = =iz 8 1 L=2
—] (TYP. [ [— {TYP.) = :ozg -:r.* .‘Z:.i'&m
Ll ? ¢ TRANSOM TRANSOM T——— 5 o T :";.;.3 2 fO5f ook
— ] - % & >~ Om M
—_ _ T SEE HINGE ? 25 CPT 223°
T i‘j o 29 X @// DETA"._ 8 :L 8 //// e nness® h) \\\\ %" g :’oi g
& £ TRANSOMTO — @ (TYP.) = 1 54 ” W Zdep
TRANSOM TO (Lxeuck _Jlo & HEAD L)2x BuCK “ & 3 sy z2 W 580%
HEAD - -1 (TYP.) — B 23 e e reE =% ox28
T (P | e 2 g8 || B 14, 1%
DIRECTTO DIRECTTO &5 * B 8° N g B8 o588
- MASONRY —|| —— — (B )masongy ~—{| — . N ¥ l *J gt ¢ Boik
HEAD & JAMBS HEAD & JAMBS A mi i R §
TYP. TYP. B P
) e T i 1| £
- — . — 1 vl . K 218 3o @<
. I~ =
. E Sz R o
s & g = - <
I oz — -l O ® —HR
FRAME 2 BOOR SILL = l SEE LATCH & 88 | ER
(TYP.) ™~ TYp) DEADBOLT STRIKE SEE MULTIPOINT LOCK o~ | 99
- - — il k™ DETAIL STRIKE PLATE DETAIL I3 |5 Sw
L k. (TYP) L (TYP.) 03 |2 <3
ol |0 S8
TRANSOM TO STRIKE JAMB/MULLION o2 |9 B3
X HEAD mwon X0, OX outswinG  HINGE JAMB/MULLION  STRIKE JAMB/MULLION IKE JAMB/MU . o T
- @ (TYP.) 4 LATCH & DEADBOLT MULTIPOINT LOCK 2 S
: ] INSWING ) &
INTEGRAL MULLION ATTACHED TO (TYP.) _ SIDELTE SILL \ & &
HEAD, SILL & TRANSOMW/ (3) =T T 11T 1 ] TTHT T 1| »g (YP) S @
#9 X 2-1/2" DRYWALL SCREWS ~~_||__ \ = ‘ DIRECTTO ] @ &
S
(TYP) = N il R RANSOM DIRECTTO MASONRY i 2X BUCK
= MASONRY
— ¢ B B 1XBUCK / ]XBUCK N
—_ N\ 1X BUCK - @
RN T 2X BUCK @ DIRECTTO
\ ~ g U 2X BUCK \ MASONRY \ "
= o Lile v 5
— 2X BUCK - & o Al o< S
o @éﬂ l, @ ROCKWELL MULTIPOINT LOCK HARDWARE ROCKWELL HARDWARE 2
G 1X BUCK o
— \ ®)
B MASONRY N R ) DIRECTTO @r
HEAD & JAMES HINGE DETAIL MASONRY (20) OP PLATE
(TYP) INSWING 1X BUCK e BN .
— DRECTTO ~ 2XBUCK @ @< L
OUTSWING o GE \ M) masongy 5
INSWING G — — g = G )IX BUCK | BACK PLATE
@]
SIDELITE SILL — = S L )2x BUCK ‘ z
) DO(?YI; ?lLL * HL a 2XBUCK(25 2X BUCK S owE: 3/10/22
_— . s e ]| & T ]
\ LIl Ll o Hle '\\@ 1X BUCK xsuck (G) )\@ SONE NJ@
DIRECT TO oWe. BY:
DIRECT TO \
KWIKSET HARDWARE SCHLAGE HARDWARE DRAVING o
HINGE DETAIL FL—41467.5
FRAME ANCHORING OUTSHING HARDWARE DETAILS —

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.5.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.5.dwg

BILL OF MATERIALS
ITEM# | DESCRIPTION MATERIAL
A 1X BUCK (G >=0.42) WOOD
B 2X BUCK {G >=0.42) WOQOD
C 1/4" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F 1/4" X 3-3/4" PFH DeWALT OR [TW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH [TW CONCRETE SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW {1.15" MIN. EMB.) STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
1 COMPOSITE JAMB COMP
3 COMPOSITE MULLION COMP/LVL
7 WEATHERSTRIP FOAM
8 SWEEP VINYL
9 4" X 4" HINGE STEEL
11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
17 INSWING SIDELITE ADAPTER PVC
18 #8 X 3" SD TRIM SCREW STEEL
20 #9 X 1/2" PFH WOOD SCREW STEEL
21 #12 X 2-1/2" PFH WOOD SCREW STEEL
23 #8 X 3/4" PFH WOOD SCREW STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 #7 X 1-5/8" DRYWALL SCREW STEEL
29 #10 X 2" PFH WOOD SCREW STEEL
34 MULTIPOINT LOCK STRIKE PLATE STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

1.25"

4.56"

0.75"

1

213" —=

COMPOSITE JAMB

WORLDWIDE "4EVER"

.
-

5.62"

14 INSWING THRESHOLD

Columbia

17 INSWING SIDELITE SPACER

Columbia

15 S
e . | \\ & .
0.5 —= |=— N
SSiy 3
~  LVLINSERT I g 3
0.65"X2.7" =0 <
s ) EL Y
~ w“.
in ,’/, “““
5 /
i _i ‘ry 1"
|
2.5" ’
@ COMPOSITE MULLION
2.44' | )
, | 5
‘ (o]
w7 .
B _
4.6" —wl
15 QUTSWING THRESHOLD
Columbia
CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the comers may be adjusted fo maintain the min.
edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

June 7, 2022

TTW BUILDEX |

[/
. /g”/
~e. /,,
. /’ s}
- ’ m
X
0, A=0 M
HE - Sai v AN
.:\:l"z‘ 00!@
O.Q\ <'g°’m
O E58 6
N 4 Do
&\\ 3>4n2
\ Zow
Y 8R4
f’é wxg.g’
PEp ZDg"
g.c% S . cw
fas 592k
o T moai
2 b
€ 0
° C
£ 6% §
3 0.,
g tu
a 2o
O
e T
28 e
g2 EZ
20l B2
o< IR
Sla
502@%
2%%00
. :gm‘é’;ax
'5 | M
3 o
S &
& &
>..
fn
0
Z
o
%}
v
e
<
o
o
pa

DATE: 3/10/22

wood screws fo prevent the splitting of wood.

TAPCON® : 1-1/8° > o scAE: N.T.S.
DeWALT ® 1-1/8° . - DWG. BY: RW
ULTRACON% -1/ 1 4 cHK. B:  LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL-41467.5

SHEET 13 oF 13

© 2022 R.W., BUILDING CONSULTANTS INC.





